Creating Linear Equations Name

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

1 8
1) Slope =- 5 y-intercept = -2 2) Slope = 5 y-intercept = 4

3 ) 1 :
3) Slope =- 7 y-intercept = 4 4) Slope = 3 y-intercept = 0

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

5) through: (5, 1)’ slope = _% 6) through: (3, 3), slope =3

7) through: (3, —3), slope = -1 8) through: (_4, 1), slope =%

9) through: (—3, 2), slope = -1 10) through: (—4, O), slope =0



Write the slope-intercept form of the equation of the line described.

6
11) through: (5, —2), parallel to y = —7x +1

2
13) through: (—5, 1), parallel to y = —gx -2

15) through: (—1, —5), parallel to x =0

17) through: (—4, —4), parallel to y =3

19) through: (5, 5), parallel to y = %x -1

12) through: (1, 2), parallel to y=-3x -1

14) through: (—1, 2), parallel to y = —x + 2

16) through: (—1, 3), parallelto y =7x -1

18) through: (2,5), parallel to y = -1

20) through: (—4, 4), parallel to y=-x -1



21) through: (4, —2), perp.to y=-2x+5

23) through: (2, O), perp.to y=-x-1

3
25) through: (—1, —3), perp.to y = —gx +1

3
27) through: (—3, —3), perp.to y =— gx +2

7
29) through: (—2, 3), perp. to y = gx -2

5
22) through: (—5, 2), perp.to y = gx

24) through: (—5, —3), perp. to y = —%x

1
26) through: (1, —1), perp.to y = Ex -4

28) through: (2, —2), perp.to y=2

5
30) through: (—2, —2), perp. to y = —Zx



Creating Linear Equations Name

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

1 8
1) Slope =- 5 y-intercept = -2 2) Slope = 5 y-intercept = 4
1 8
y=—-—x-2 y=—x+4
5 5
3 . 1 )
3) Slope =- 7 y-intercept = 4 4) Slope = 3 y-intercept = 0
: 1
y=——x+4 y=—X
4 3

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

5) through: (5, 1), slope = _g 6) through: (3, 3), slope =3
5 y=3x-6

S+ 4
)= ——Xx+
! 5

hrough: (3, — lope = -1
7) throug (3,-3), s ope 8) through: (-4, 1), slope=%
y=-x

y=—x+4
4

9) through: (—3, 2), slope = -1 10) through: (—4, O), slope =0

y=-x-1 y=0



Write the slope-intercept form of the equation of the line described.

6 12) th h: (1,2 llelto y=-3x-1
11) through: (5, -2), parallel toy=—;x+ 1 ) through: (1, 2), parallel to y *

y=-3x+5

2 14) th h: (-1, 2 llel =—-x+2
13) through: (=5, 1), parallel toy=—gx—2 ) through: (-1, 2), parallel to y = —x +

y=-x+1
2 1
)= — —X —
Y775
15) through: (—1, —5), parallel to x =0 16) through: (—1, 3), parallel to y =7x -1
x=-1 y="7x+10
17) through: (—4, —4), parallel to y =3 18) through: (2, 5), parallel to y = -1
y=-4 y=>5

9 20) th h: (-4, 4 llelto y=-x-1
19) through: (5, 5), parallel toy=5x—1 ) through: (=4, 4), parallel to y = —x

y=-x




21) through: (4, -2 toy=-2x+5 5
) throug ( ’ )’ peip-10 T 22) through: (-5, 2), perp. t0y=gx

y=—x-4
2

23) through: (2, 0 toy=-x-1
) throug ( ’ )’ perp- 10y ==X 24) through: (—5, —3), perp.to y = —%x

y=x-2
8
=—x+5
g 5
3 1
25) through: (—1, —3), perp.to y = —gx +1 26) through: (1, —1), perp.to y = Ex -4
1 =-3x+2
y=—i—— y X+
3 3

3 28) through: (2, -2 toy=2
27) through: (—3, —3), perp. toy=—§x+2 ) throug 2,-2), perp- 1oy

x=2
8
=—x+5
g 3
7 5
29) through: (=2, 3), perp. to y = e 2 30) through: (-2, -2), perp. to y = e

5 11 4 2

y=-_x+"—_ y=—X-—

7 7 5 5



